
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 Copyright 2018 ELECTROLUX HOME PRODUCTS PTY LTD, Technical Services 
 

Electrolux 
 

Underbench Oven 

 Issue:  2  

 Technical Publication Nº  CE1327 Date:  5/19 

 

MODEL PNC 
EVE614DSD 94403179300 
EVE614SD 94403176800 

ELECTROLUX HOME PRODUCTS PTY LTD 
ABN 51 004 762 341 

EVE614SD EVE614DSD 

 



 

MAINTENANCE LEVEL CHANGE SUMMARY 

ML Description Product 
Release Date 

00  02/19 

 

 

MODEL NUMBER IDENTIFICATION 

 
 

  

 Page 2  CE1327   Issue 2 



A04145801 

MODEL: EVE614DSD EVE614SD 

FRONT FRAME 

 Ex 8334 

 

 

 

 

 

  

ITEM PART Nº DESCRIPTION Ex 8334 QTY 

1 0048 004 839 CHANNEL FRONT NGP UB LH 1 
2 A03753401 ENDCAP CONTROL PANEL CHEF LHS 1 
3 A03753402 ENDCAP CONTROL PANEL CHEF RHS 1 
4 0048 004 879 CHANNEL FRONT NGP UB RH 1 
5 808221202 FRAME FRONT PAINTED ELE UB NGP 1 
6 0701 009 022 SCREW #8 X 1/2 MUSH #2PH AB BK X 
7 0589 001 032 BUMPER STOP BLACK 2 
8 A04808002 SEAL OVEN MODULAR PROFILE LARK 1 
9 0701 009 027 SCREW #8 X 1/2 MUSH #2PH AB BK X 

 Page 4  CE1327   Issue 2 



A12258101 

MODEL: EVE614DSD EVE614SD 

CHASSIS 

 Ex 7599 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

ITEM PART Nº DESCRIPTION Ex 7599 QTY 

1 A03915901 PANEL BASE BIOS 0.5MM 1 
2 N.P.A.   
3 N.P.A.   
4 A04862802 PANEL SIDE UB BIOS LH 1 
5 0022 041 136 PLATE CVR TERM ELEC BIOS 1 
6 0701 009 033 SCREW #8 X 8MM HEX/MULTI X 
7 0038 008 163 PANEL COVER WIRE UB 40MM 1 
8 0038 005 658 PANEL TOP NGP 1 
9 A04862801 PANEL SIDE UB BIOS RH 1 

 Page 5  CE1327   Issue 2 



A
11589701 

M
O

D
EL: 

EVE614D
SD

 
EVE614SD

 

O
VEN

 

 
Ex 8461 

                                     

 
P

age 6  C
E

1327   Issue 2 



 

 

 

 

 

 

 

  

ITEM PART Nº DESCRIPTION Ex 8461 QTY 

1 0489 001 174 BRACE OVEN REAR B/I BIOS 1 
2 0701 009 033 SCREW #8 X 8MM HEX/MULTI 2 
3 0214 002 118 MOTOR FAN OVEN - BIOS 1 
4 0003 012 590 BAR CONNECTOR W/EARTH BIOS 1 
5 0349 001 376 SHIELD WIRING TERMINAL BIOS 1 
6 0701 002 133 SCREW #6 3.5X28 HILO PAN PH 1 
7 A13743501 HOLDER LAMP SIDE ASSY G9 PYRO 1 
8 387 9376 93 LAMP OVEN ROUND PYRO BIOS 1 
  ES6023 LAMP 25W 240V G9 PYRO HALOPIN (PT OF 7 & 8) 1 
9 0125 008 409 CLIP ELEMENT MOUNT 4 
10 0122 004 574 ELEMENT FAN RING 1 
11 0122 004 543 ELEMENT G/BOOST 3000W - BIOS 1 
12 0701 009 051 SCREW #8 X 1/2 MUSH #2PH AB BK 1 
13 0046 001 024 LATCH ELEMENT SUPPORT BIOS 1 
14 0028 025 403 COVER RETAINING LATCH 1 
15 A12362801 ELEMENT DUAL C/HEAT STEAM E100 1 
16 A06196202 COVER CLEAN HEAT 1 
17 0038 016 778 PANEL FAN COVER CAT BIOS 1 
18 A11918201 INSULATION OVEN WRAP - KNAUF 1 
19 0065 009 265 NUT M6 L/H FAN MOTOR 1 
20 A11806901 IMPELLER OVEN FAN 160 MM 1 
21 A05981501 INSULATION OVEN BACK- KNAUF 1 
        

N.I. A12472901 CLIP THERMOSTAT BIOS 1 
N.I. 561485201 CLIP SIDEGRIDS 2 

 Page 7  CE1327   Issue 2 



A04278201 145K 

MODEL: EVE614DSD EVE614SD 

PANEL DECK 

 Ex 8333 

 

 

 

 

  

ITEM PART Nº DESCRIPTION  Ex. 8333 QTY 

1 N.P.A. PANEL DECK COOLING UPPER 1 
2 0541 001 232 THERMAL CUTOUT 145D KLIXON 1 
3 N.P.A. PANEL DECK INTERMEDIATE 1 
4 A04278301 FAN COOLING ASSY RADIAL 11W 1 

 Page 8  CE1327   Issue 2 



A11397101_02 

MODEL: EVE614DSD EVE614SD 

CONTROL PANEL 

 Ex 8468 

 

 

 

 

 

 

 

 

  

ITEM PART Nº DESCRIPTION  Ex 8468 DS S 

1 A15622401 KNOB PIPO DARK SS E100 2   
 561848920 RETRACTABLE KNOB PRINTED   2 
2 387043820 KNOB HOLE COVER 2 2 
3 354 3221 15 SCREW M4 X 7 T20 ZINC 4 4 
4 0255 004 250 GLASS & TAPE EVE614DSD 1   
 0255 004 251 GLASS & TAPE EVE614SD   1 
5 A13161201 INDICATOR LED LIGHT-250MM E100 1 1 
6 A13161202 INDICATOR LED LIGHT 600MM E100 1 1 
7 0630 001 092 CLOCK 3 B TOUCH 'BF11' WHT 1 1 
8 A04005404 PLATE MTG SW PIPO E100 1 1 
9 A11795701 SWITCH MULTI 8 E100 STEAM 1 1 

10 0541 001 931 THERMOSTAT OVEN - EGO 1 1 

 Page 9  CE1327   Issue 2 



A11642101_02 

MODEL: EVE614DSD EVE614SD 

OVEN DOOR 

 Ex 8464 

 

 

 

 

 

   

ITEM PART Nº DESCRIPTION Ex 8464 DS S 

1 A07572001 HANDLE DOOR E100 DARK S/S 1   
  A07572004 HANDLE DOOR E100 BRIGHT S/S   1 
2 A07571901 SPACER HANDLE E100 DARK S/S 2   
  A07571902 SPACER HANDLE E100 BRIGHT S/S   2 
3 A11693801 PNL OV DR OUT AS 36 E100 1   
  A11693802 PNL OV DR OUT AS 36 E100 S/S   1 
4 A12619301 SPACER HANDLE GLS DR 2 2 
5 561231150 SCREW M4 X 50 PAN GENESYS 2 2 
6 387 0770 03 HINGE 3-L OVEN DOOR NGD 2 2 
7 0255 003 900 GLASS OV DR MID PLAIN NGD 1 1 
8 0255 004 178 GLS OV DR IN WEST FORTE 1 1 
9 A03735201 TRIM DOOR TOP CAP NGD 1 1 
10 A10068801 HANDLE PAD E100 2 2 

 Page 10  CE1327   Issue 2 



 
A12492102 

MODEL: EVE614DSD EVE614SD 

INTERNAL PACK 

 Ex 8307 

 

 

 

 

 

  

ITEM PART Nº DESCRIPTION Ex 8307 QTY 

1 A11769901 RACK SHELF OVEN ELUX E100 2 
2 A10927602 RACK SIDE OVEN EASY LH E100 1 
3 A11753301 GRILL SHELF OVEN E100 1 
4 A10927601 RACK SIDE OVEN EASY RH E100 1 
5 561185312 SLIDE DOUBLE EXT 2 SETS 1 
6 A12492001 DISH GRILL ENAM E100 1 
7 A12492201 TRAY BAKING PREMIUM ENAM E100 1 
        

A12189101 RACK PACK ELUX (INC ITEM 1, 2, 3 & 4) 

 Page 11  CE1327   Issue 2 



 
 

Publication Version Control Chart 

Issue Number Reason Date 

1 Original Document 1/2/2019 

2 Circuit Diagram Added 22/5/19 

 

 

 Page 13  CE1327   Issue 2 


	MAINTENANCE LEVEL CHANGE SUMMARY
	MODEL NUMBER IDENTIFICATION
	MODEL: EVE614DSD EVE614SD
	FRONT FRAME

	MODEL: EVE614DSD EVE614SD
	CHASSIS

	MODEL: EVE614DSD EVE614SD
	OVEN

	MODEL: EVE614DSD EVE614SD
	PANEL DECK

	MODEL: EVE614DSD EVE614SD
	CONTROL PANEL

	MODEL: EVE614DSD EVE614SD
	OVEN DOOR

	MODEL: EVE614DSD EVE614SD
	INTERNAL PACK

	MODEL: EVE614DSD EVE614SD
	CIRCUIT DIAGRAM



